A BOR — LINEAR ArceBRA 1 1) Leduse |

ws1
\1

ggt/er‘oldj ’fl/w_orevvl a(oouc(: (v\\/erﬁ%((itd )
“The ﬁll,owfcj statoments are equivaleat 7@r any nxn f:
M A s invertble
(2) The OM'U Solubion o Hae sjs‘cuvu Ai=5_ s x=0
@ The RREF o A s Ln.
@ A is a product of elesmentary wmalirices.

(5) For al\ b, e sdsw Asx=b s consistenl.
©) For all &, Yee systam Ax =b has e_mcé(cy 1 sdubim.

L

Ve said Lefore, to fod RV CE 1 exists)
vt (o | T] & reduce Atoits RREF:

(R | Bl

w £=T, then B:ﬁ".
f RF T, flew A wot imertible . M Hu fiwe Usaid
“R las a wwof 2ems”

C. B pok wmeible . but Wl then 5A ot 2

l
fomesber R= E,E,., . EA
C —!
These oe all werfible




We'll  show “Theoreun f A, B ae nxn arnd
AG is wuedible , fen So
we A wd B

Tham _|;F A imertible, R = EE, EA sould
Waare to ko jamertibe.

i.e. (AB)i = 0 , ie \WU'CJ'*IQ-Q So L‘j(?. (%
513 MW\) i.‘g

So Big Tsoren (2) alking ok B 5 tnee
S (D s fwe e Blis el |
e A ses Ax =0
fo A(BE')%=0 (sn B imvertille)
pb (8'x) =0
Since A& wwetable , by Big Tueoreun) B 'x =0

Sna. B~ jmegible., X =0
So B mnestie, /7



buother Foct (ot A, B nxn. If AB =1
Haen A B inmnertible (Z_ i‘\'ﬂ:B’

, B—‘:A ; BA ‘l)
Wy © (| show B exists.
Lot BX=0. r
n f:ﬂﬁ-—-—B S; B.' (O(Q
j'i:o “Thao M
AB=T 5. A6 8" i A-§
B S

So if p(x) = ¥+t — Bx + 13) wWe  Can
make smse v P(A) = AT -BA + 13T
(A““J constunls ¢ becomes CL)) )



F(Pﬂf[ -8 40 -8 ): ]
—le Il ) l(o 24

pu— e

=| o o We sy fi 5 a not
b6) o o(l px) if fUH':O.

7(1\-—-‘)8
? 8® Nebie &y (8) = 5473
A~ [; e lek (B) = @@-»(«0(—2)

2 ©

Tfum Tack - '|( A= [“ ©
c d
then A is a ook of x.l-—-'k(m)ﬁt-l'éﬂ,ic_@}
Queshme for lahis: o does Hus pelate o <o
weres . - e
|. 4 Sqaeciaf Kiads of \%&p\pe Mokricey

e

—D:-Qﬁ'oml , Tw amaukar, %mme tnc

’D]oﬁmwai P( = [a:)]‘ .S A;ajoma! (F a\-‘)' =0

S, B LT




f AR oe nn dingonal , Hhen A“'B,hA

Nsalor
Mo i A diagonal nxw
R avy nxn W\ﬂk‘m( Haom
AG = r~"\\\ o ---5|(bnbiz -~ oin ")
o ach R - bZ\ b?_?_ * -, b'lll\
: 2 % \o. 5 . b 3
| © O - -« Gnn | N °n2 nw
=)
=[aby abn - aubn [0(" 'J] 0
022l G by, - - Bqq boa J
m:vm '°m avm l’m. = “vw\ IOIM\"

Sinuilody  BA = D"‘J

» (BT
L 1= (]

X | /
f 2 happens o be A‘QJM AR = BA

B “t\ L’l\ i{
&b

)




Pem dunck og L\cgmmﬂ wabwney is &;QSOM,Q,
Aud of A s duiajowi wnd {MQLQ,
'l’(w/‘ A"l _ f“l/a“ Z‘n O —)

B —

A s d.AOLjQAlQ & iwvertibk Qxad{ﬁ Whey
a;; # O ‘(N 4

g [2 SN } J imertible

o |( o
o Q -

[2 © O’X X wet e bl
o ( ©

© O

-

K
Alco £ Jal ob\‘aaaA-mQ ) A = Q‘\‘( @
O qv\":\ ]
lor = Uppes anvxgujaf (UK/T) &y =0 u(:.
= Lowes Tramgulos (.t) '7J

-—rﬂ.wﬂﬁu




2
o\ 5

.

L~

WT.

¢

r-g © ©
-2
( —-t O

L. T
(J

[ o
[O 3] < wT LT AND Diggoad,



